O O + QO -
O OO =
O O O =

O + O -
QOO 4 OO —
OO OO -

POCITAME DO DESETI
2+4= 10- 2= d-p= 4+5=
3+2= 10-5= B-2= 5+5=
4+6= 10-9= b= 8+1=
8+1= 10= 3= Bl 9+(0=
6+3= 10-4 = 6-3= 347 =
5+2= 10-6= 4+5= 0-6=
3+6= i 6+2= Ol =
4+2= 10-0= 4+3= §-7=
9+4= 10-1= 2+8= 7-4=
2+7= 10-8= 9+0= 4-4=

Viyfeste nasledujici slovni tlohy a pfiklad dole na strénce::



1;4#_

deln
I=dn__
S=dw__
24dm
5-1=
d+de

1425

d+1=
i+1=
3-2s
EX L

§=dm__

2¢1m
G=2%

2+¢ds
2-1s_

441z
§-2:
§-4s

4-3s
2¢3n

a=lm
d=1m
1+m
4-1=
s

T
1+5=
G-1=
4+42¢=
f-fe
J4de
G=ds
G+
6=-1=

G-2=_

féds=
§-5=
3+]=
G=1=
ie¢dm
f+1e
631
1+5%
f-2=
d+ds
§-4=

f=2=

=28

d=1n
1+5u

l+1|_

6-3=
§-2=

1452
§-2s
3+3s
3-1s
§-4s
1+#3®

Selm_

J+2s=

2ed=
§=1s__

t+1=

B-3=_

d+d=

i=2e
G=5m
d=1=
§+3m
2+]1s=
G-2=



